WAWSLEEQO RS LR

D 24V @2 3WZ-VI5 B 346 (@) V246

1) V2(V2 +V7)=V2 xV2 +V2 xJ7
=2+./14

(2) V3(/6 —/5)=+3 x/6 —v/3 x5
=18 =15
=32 — 15

®) (VI +18)+ 3 = LT
V9 ++/6
3+6
4) (V3 +2)(V6 —v2)=+/3 X6 —/3 X+/2 +2X/6 —2X+/2
=18 —/6 +26 —2/2
=32 —/6 +26 —22
=v2 +.6

(1) 8+4v3 (2) 38-12/10 (3 1 4 -6
1) (V2 +v/6)*=(V2)*+2x 6 xv2 +(/6)°
=2+4+2/12 +6
=8+4+2X2/3
=8+4/3
(2) (245 —3v2)*=(24/5)—2x3/2 x2/5 +(3/2)*
=20—12/10 +18
=38—12/10
3) (3+2v2)(3-22)=3"—(2/2)*
=98
=1
(4) (4V/3 +3V6)(4V/3 —3/6)=(44/3)*—(3/6)°
=48—54
=—6



